Communications in Mathematical and in Computer Chemistry

On the Energy of Trees

Jingyuan Zhang^{*}, Sen Qin

School of Science, Hangzhou Dianzi University, Hangzhou 310018, P. R. China jyzhang@hdu.edu.cn, qinsen0425@hdu.edu.cn

(Received March 3, 2016)

Abstract

We use a polynomial $f(x) = \sum_{j=0}^{n_0} (-1)^j m(T, j) x^{n_0-j}$ for calculating the energy E(T) of a tree T, where m(T, j) and n_0 are the number of j-matchings and the maximal matching of T, respectively. To derive the exact expression of E(T), we further consider a related polynomial $f(x)/d(x) = c_0 x^m + c_1 x^{m-1} + \cdots + c_m$, where d(x) is the greatest common factor between f(x) and its derivative f'(x). Let $m_j = \lim_{p\to\infty} \frac{(f'(x_{j,p}))^2}{(f'(x_{j,p}))^2 - f(x_{j,p})f''(x_{j,p})}, \ \sqrt{x_j} = \lim_{p\to\infty} \sqrt{x_{j,p}}, \ \text{and} \ x_{j,p} = \sqrt[q]{\frac{c_{j,p}}{c_{j-1,p}}}$ with $q = 2^p$. We obtain the main result $E(T) = \sum_{j=1}^m 2m_j \sqrt{x_j}$, where $c_{j,p}$ for all $0 \le j \le m$ and $p \ge 0$ is recursively defined as follows: if $p = 0, \ c_{j,p} = c_j$; if $p \ge 1$, $c_{j,p} = c_{j,p-1}^2 + 2\sum_{k\ge 1} (-1)^k c_{j-k,p-1} c_{j+k,p-1}$, and the summation is over " $j - k \ge 0$ " and " $j + k \le m$ ". Additionally, we present a simple example to demonstrate the effectiveness of the new method.

1 Introduction

Let G be a simple graph with n vertices, and $\lambda_1, \ldots, \lambda_n$ its eigenvalues. Note that λ_j for each $1 \leq j \leq n$ is a zero of the characteristic polynomial $\phi(G, x) = \det(xI - A(G)) =$ $x^n + a_1 x^{n-1} + \cdots + a_n$, where A(G) is the adjacency matrix of G. As well known [1],

^{*}corresponding author

the graph energy E(G) of G is defined as $E(G) = \sum_{j=1}^{n} |\lambda_j|$. It was introduced by Gutman in 1970s [2], and used as an approximation of the total π -electron energy [3]. In the last decade, research on graph energy, including bounds [4–12], hyperenergetic graphs [2, 13, 14], and equienergetic graphs [15, 16], to name just a few, has not only been a very popular topic, but resulted in over one hundred published papers [1]. The following formula is well known

$$E(G) = \frac{1}{\pi} \int_{-\infty}^{+\infty} \frac{1}{x^2} \log |x^n \phi(G, i/x)| \, \mathrm{d} x$$

where $i = \sqrt{-1}$. Furthermore, if G is a tree, the above equality can be expressed as the Coulson integral:

$$E(G) = \frac{2}{\pi} \int_0^{+\infty} \frac{1}{x^2} \ln\left[1 + \sum_{j \ge 0} b_{2j} x^{2j}\right] d\mathbf{x}$$
(1)

where $b_{2j} = (-1)^j a_{2j}$. For more details on the graph energy see refs. [1,17] and references therein.

Formula (1) makes it possible to compute the energy of trees without knowing the zeros of the characteristic polynomial, and hence is found many applications. For instance, let H_1 and H_2 be trees with n vertices, and suppose the coefficients b_j of these two trees satisfy

$$b_j(H_1) \le b_j(H_2)$$
 for all $j = 1, \dots, \left\lfloor \frac{n}{2} \right\rfloor$.

Then from formula (1), it follows immediately that $E(H_1) \leq E(H_2)$ [18]. However, it is expressed as a complicated improper integral, and cannot show us a direct way to compute the energy of trees. Motivated by this, we introduce an auxiliary polynomial to calculate the energy of trees, and obtain a formula which depends on the coefficients of the characteristic polynomial, and thus enables one to calculate the energy of trees in a more direct way.

2 A formula for calculating the energy of trees

First, we list some preliminaries that will be used in what follows.

Lemma 2.1. [19,20] If T is a tree with n vertices, then the characteristic polynomial $\phi(T, \lambda)$ can be expressed as

$$\phi(T,\lambda) = \sum_{j=0}^{\lfloor n/2 \rfloor} (-1)^j \, m(T,j) \, \lambda^{n-2j}$$

where m(T, j) is the number of j-matchings of T. By convention, m(T, 0) = 1.

Lemma 2.2. (See [21].) The collection of all zeros of $\phi(T, \lambda)$ is symmetric with respect to the origin.

Define

$$f(x) = \sum_{j=0}^{n_0} (-1)^j m(T, j) x^{n_0 - j}$$

where n_0 is the size of the maximal matching of T.

As an example for a tree $T^{(0)}$ (see Fig. 1), we have $f(x) = x^5 - 9x^4 + 26x^3 - 30x^2 + 13x - 1$, which is directly calculated by a method similar to that in [22].



Figure 1: A tree $T^{(0)}$ with 10 vertices.

According to Lemmas 2.1 and 2.2, the following lemma is straightforward.

Lemma 2.3. (I) $\phi(T, \lambda) = \lambda^{m_0} f(\lambda^2)$, where m_0 is the nullity (= number of zero eigenvalues). (II) If x_k is a zero of f(x), then both $\sqrt{x_k}$ and $-\sqrt{x_k}$ are zeros of $\phi(T, \lambda)$. (III) Each zero of f(x) is a positive real number.

For $1 \le j \le m$, denote a zero of f(x) by x_j , whose multiplicity is m_j . As a consequence of Lemma 2.3, we obtain

$$E(T) = \sum_{j=1}^{m} 2m_j \sqrt{x_j} \,. \tag{2}$$

In Eq. (2), we can evaluate the quantity m_j by the following method due to Guan [23]. Lemma 2.4. If m_j is the multiplicity of zero x_j of f(x), then

$$m_j = \lim_{x \to x_j} \frac{(f'(x))^2}{(f'(x))^2 - f(x)f''(x)}$$

where f'(x), as usual, is the derivative of f(x).

Proof. For completeness, we provide an independent proof. Since m_j is the multiplicity of zero x_j of f(x), we can write f(x) as $f(x) = f_1(x)f_2(x)$ with $f_1(x) = (x - x_j)^{m_j}$ and $f_2(x_j) \neq 0$. As a result, we have

$$\frac{f(x)f''(x)}{(f'(x))^2} = \frac{f_1(x)f_2(x)\left[f_1''(x)f_2(x) + 2f_1'(x)f_2'(x) + f_1(x)f_2''(x)\right]}{(f_1'(x)f_2(x) + f_1(x)f_2'(x))^2}$$
$$= \frac{f_2(x)\left[m_j(m_j - 1)f_2(x) + 2m_j(x - x_j)f_2'(x) + (x - x_j)^2f_2''(x))\right]}{(m_jf_2(x) + (x - x_j)f_2'(x))^2}$$

Taking a limit gives $\lim_{x\to x_j} \frac{f(x)f''(x)}{(f'(x))^2} = \frac{m_j-1}{m_j}$, and this leads to $\lim_{x\to x_j} \frac{(f'(x))^2}{(f'(x))^2 - f(x)f''(x)} = m_j$, as a desired value.

In order to obtain the quantity $\sqrt{x_j}$ in Eq. (2) for all $1 \le j \le m$, let d(x) denote the greatest common factor between f(x) and f'(x), and set g(x) = f(x)/d(x). Notice now that g(x) is a polynomial of order m, whose zeros are x_1, \ldots, x_m in which $x_j \ne x_k$ if and only if $j \ne k$. Therefore, g(x) may read as $g(x) = x^m + c_1 x^{m-1} + \cdots + c_m$.

Put $c_0 = 1$ for simplicity, and recursively define $c_{j,p}$ for all $0 \le j \le m$ and $p \ge 0$ as follows.

• If p = 0, $c_{j,p} = c_j$.

• If $p \ge 1$, $c_{j,p} = c_{j,p-1}^2 + 2\sum_{k\ge 1} (-1)^k c_{j-k,p-1} c_{j+k,p-1}$, where " $j-k\ge 0$ " and " $j+k\le m$ " must hold.

Theorem 2.5. $\sqrt{x_j} = \lim_{p \to \infty} \sqrt[2q]{\frac{c_{j,p}}{c_{j-1,p}}}$ for all $1 \le j \le m$, where $q = 2^p$.

Proof. We follow Lobachevsky [24] to proceed the following equation

$$g(x) = x^m + c_1 x^{m-1} + \dots + c_m = 0$$
(3)

and write it as

$$x^{m} + c_{1}x^{m-1} + \dots + c_{m} = (x - x_{1})(x - x_{2}) \cdots (x - x_{m}) = 0.$$
(4)

Replacing x with -x gives

$$x^{m} - c_{1}x^{m-1} + c_{2}x^{m-2} + \dots + (-1)^{m}c_{m} = (x + x_{1})(x + x_{2})\cdots(x + x_{m}) = 0.$$
 (5)

Combining Eq. (4) with Eq. (5) gets $(x^2 - x_1^2)(x^2 - x_2^2) \cdots (x^2 - x_m^2) = 0$, and further becomes

$$(z - x_1^2)(z - x_2^2) \cdots (z - x_m^2) = 0$$
(6)

where $z = x^2$.

On the other hand, multiplying the left-hand sides of the two Eqs. (4) and (5), we obtain

$$\begin{pmatrix} c_0 x^m + c_1 x^{m-1} + \dots + c_m \end{pmatrix} \times \begin{pmatrix} c_0 x^m - c_1 x^{m-1} + \dots + (-1)^m c_m \end{pmatrix}$$

= $c_0^2 x^{2m} + c_0 c_1 \quad x^{2m-1} - c_1^2 \quad x^{2m-2} - c_0 c_3 \quad x^{2m-3} + c_2^2 \quad x^{2m-4} - \dots = 0.$
 $-c_0 c_1 \quad + c_0 c_2 \quad + c_1 c_2 \quad - c_1 c_3$
 $+ c_0 c_2 \quad - c_1 c_2 \quad - c_1 c_3$
 $+ c_0 c_3 \quad + c_0 c_4$
 $+ c_0 c_4$

Then substituting z for x^2 gives

$$c_0^2 z^m + (-c_1^2 + 2c_0 c_2) z^{m-1} + (c_2^2 - 2c_1 c_3 + 2c_0 c_4) z^{m-2} + \dots = 0.$$

Together with (6), we have

$$c_0^2 z^m + (-c_1^2 + 2c_0 c_2) z^{m-1} + (c_2^2 - 2c_1 c_3 + 2c_0 c_4) z^{m-2} + \cdots$$

= $c_0^2 (z - x_1^2) (z - x_2^2) \cdots (z - x_m^2)$
= 0.

Herein changing z into -z yields

$$c_0^2 z^m + (c_1^2 - 2c_0 c_2) z^{m-1} + (c_2^2 - 2c_1 c_3 + 2c_0 c_4) z^{m-2} + \cdots$$

= $c_0^2 (z + x_1^2) (z + x_2^2) \cdots (z + x_m^2)$
= 0. (7)

In Eq.(7), the coefficient of z^k is obtained from the coefficients in Eq. (3) by taking the square of the coefficient of x^k , minus twice the product of two coefficients of x^{k-1} and x^{k+1} , plus twice the product of two coefficients of x^{k-2} and x^{k+2} , and so on, until the coefficient of the first item or last item appears.

If we proceed Eq. (7) analogous to Eq. (3), we shall obtain a new equation of order m, whose roots are $-x_1^4$, $-x_2^4$, \cdots , $-x_m^4$. We say that the original Eq. (3) is proceeded twice. Proceeding the original Eq. (3) p times, we arrive at a new equation

$$c_{0,p}x^m + c_{1,p}x^{m-1} + \dots + c_{m,p} = 0$$

whose roots are $-x_1^q$, $-x_2^q$, ..., $-x_m^q$, where $c_{j,p}$ for all $0 \le j \le m$ and $p \ge 0$ is defined as above.

Bearing in mind that $c_{0,p}x^m + c_{1,p}x^{m-1} + \dots + c_{m,p} = c_{0,p}(x+x_1^q)(x+x_2^q)\cdots(x+x_m^q) = 0$ and $c_{0,p} = 1$, we obtain

$$x_{1}^{q} + \dots + x_{m}^{q} = c_{1,p}$$

$$(x_{1}x_{2})^{q} + (x_{1}x_{3})^{q} + \dots = c_{2,p}$$

$$(x_{1}x_{2}x_{3})^{q} + (x_{1}x_{2}x_{4})^{q} + \dots = c_{3,p}$$

$$\dots$$

$$(x_{1}x_{2}\dots x_{m})^{q} = c_{m,p}$$

Assume that $x_1 > x_2 > \cdots > x_m > 0$, and write the above equalities as

$$\begin{array}{c} (\sqrt{x_1})^{2q} \left[1 + (\sqrt{\frac{x_2}{x_1}})^{2q} + \dots + (\sqrt{\frac{x_m}{x_1}})^{2q} \right] = c_{1,p} \\ (\sqrt{x_1 x_2})^{2q} \left[1 + (\sqrt{\frac{x_3}{x_2}})^{2q} + \dots \right] = c_{2,p} \\ (\sqrt{x_1 x_2 x_3})^{2q} \left[1 + (\sqrt{\frac{x_4}{x_3}})^{2q} + \dots \right] = c_{3,p} \\ \dots \\ (\sqrt{x_1 x_2 \cdots x_m})^{2q} = c_{m,p} \end{array} \right\}$$

Since the absolute values of the fractions $\frac{x_2}{x_1}$, $\frac{x_3}{x_1}$, \cdots , $\frac{x_m}{x_{m-1}}$ are less than 1, there is always the index q such that the quantities $\left(\sqrt{\frac{x_2}{x_1}}\right)^{2q}$, $\left(\sqrt{\frac{x_3}{x_1}}\right)^{2q}$, \ldots , $\left(\sqrt{\frac{x_m}{x_{m-1}}}\right)^{2q}$ are omitted within the error range. Thus we obtain

$$\begin{cases} (\sqrt{x_1})^{2q} = c_{1,p} \\ (\sqrt{x_1 x_2})^{2q} = c_{2,p} \\ (\sqrt{x_1 x_2 x_3})^{2q} = c_{3,p} \\ \dots \\ (\sqrt{x_1 x_2 \cdots x_m})^{2q} = c_{m,p} \end{cases}$$
(8)

followed by

$$(\sqrt{x_1})^{2q} = c_{1,p}$$

$$(\sqrt{x_2})^{2q} = \frac{c_{2,p}}{c_{1,p}}$$
.....
$$(\sqrt{x_m})^{2q} = \frac{c_{m,p}}{c_{m-1,p}}$$

further implying

$$\sqrt{x_j} = \lim_{p \to \infty} \sqrt[2q]{\frac{c_{j,p}}{c_{j-1,p}}} \tag{9}$$

for all $1 \leq j \leq m$.

From Lemma 2.4 and Theorem 2.5, we have obtained a novel method for calculating a value for E(T).

Theorem 2.6. Suppose that $f(x) = \sum_{j=0}^{n_0} (-1)^j m(T, j) x^{n_0-j}$, d(x) = the greatest common factor between f(x) and its derivative f'(x), and $g(x) = f(x)/d(x) = c_0 x^m + c_1 x^{m-1} + \cdots + c_m$. Then,

$$E(T) = \sum_{j=1}^{m} 2m_j \sqrt{x_j} = \lim_{p \to \infty} \sum_{j=1}^{m} \frac{2(f'(x_{j,p}))^2}{(f'(x_{j,p}))^2 - f(x_{j,p})f''(x_{j,p})} \sqrt{x_{j,p}}$$
(10)

where $m_j = \lim_{p\to\infty} \frac{(f'(x_{j,p}))^2}{(f'(x_{j,p}))^2 - f(x_{j,p})f''(x_{j,p})}, \ \sqrt{x_j} = \lim_{p\to\infty} \sqrt{x_{j,p}}$, and $x_{j,p} = \sqrt[q]{\frac{c_{j,p}}{c_{j-1,p}}}$ in which q is equal to 2^p , and $c_{j,p}$ for all $0 \le j \le m$ and $p \ge 0$ is recursively defined as follows: if $p = 0, c_{j,p} = c_j$; if $p \ge 1, c_{j,p} = c_{j,p-1}^2 + 2\sum_{k\ge 1} (-1)^k c_{j-k,p-1} c_{j+k,p-1}$, and the summation $\sum_{k\ge 1}$ is over " $j - k \ge 0$ " and " $j + k \le m$ ".

Remark 2.7. In practice, there should be a more detailed explanation how to use Eq. (10) to get the approximate value for E(T). First, in view of Eq. (10), we have

$$E(T) \approx E(T_p) := \sum_{j=1}^{m} \frac{2(f'(x_{j,p}))^2}{(f'(x_{j,p}))^2 - f(x_{j,p})f''(x_{j,p})} \sqrt{x_{j,p}}$$
(11)

and use it to obtain an approximation of E(T) with any given precision just by choosing the appropriate parameter p. For convenience we take $c_0 = 1$, giving rise to $c_{0,p} =$ 1 for all $p \ge 1$. Then from Eq. (8) when the parameter p is replaced by p + 1, it follows that $\left(\left(\sqrt{x_1\cdots x_j}\right)^{2q}\right)^2 = \frac{c_{j,p+1}}{c_{0,p+1}} = c_{j,p+1}$ for all $1 \le j \le m$. This and the relations $\left(\sqrt{x_1\cdots x_j}\right)^{2q} = \frac{c_{j,p}}{c_{0,p}} = c_{j,p}$ jointly produce $(c_{j,p})^2 = c_{j,p+1}$, i.e.,

$$2\lg\left(c_{j,p}\right) = \lg\left(c_{j,p+1}\right)$$

for all $1 \leq j \leq m$. Thus, the quantities $c_{j,p}$ are desired values as suggested in [24], once the above equations for all $1 \leq j \leq m$ are satisfied. Next, the multiplicity m_j of zero x_j of f(x) is exactly equal to the integer nearest to the real number $\frac{(f'(x_{j,p}))^2}{(f'(x_{j,p}))^2 - f(x_{j,p})f''(x_{j,p})}$, which follows from Lemma 2.4.

It is worth mentioning that $\sqrt{x_j}$ for each $1 \le j \le m$ is actually the *j*-th eigenvalue [25,26] of *T*, and Eq. (9) is a new method for calculating the eigenvalues of *T*. Compared to the existing methods [27–29], our method is of interest in its own right.

3 An example

We choose again the tree $T^{(0)}$ (see Fig. 1) to demonstrate the method in Eq. (11). By a direct calculation, we obtain the related functions as follows: $f(x) = (x - 1)^2(x^3 - 7x^2 + 1)^2$

 $11x - 1) = x^5 - 9x^4 + 26x^3 - 30x^2 + 13x - 1, \ f'(x) = (x - 1)(5x^3 - 31x^2 + 47x - 13),$ $f''(x) = 20x^3 - 108x^2 + 156x - 60, \ d(x) = x - 1, \ \text{and} \ g(x) = f(x)/d(x) = (x - 1)(x^3 - 7x^2 + 11x - 1) = x^4 - 8x^3 + 18x^2 - 12x + 1.$ Table 1 displays the approximate values $E(T_p^{(0)})$ for p = 1 through 6.

Table 1: Calculating the approximate values $E(T_p^{(0)})$ for p = 1 through 6 with initial conditions $c_{0,0} = 1$, $c_{1,0} = -8$, $c_{2,0} = 18$, $c_{3,0} = -12$ and $c_{4,0} = 1$.

	$\sqrt[2q]{\frac{c_{1,p}}{c_{0,p}}}$	$\sqrt[2q]{\frac{c_{2,p}}{c_{1,p}}}$	$\sqrt[2q]{\frac{c_{3,p}}{c_{2,p}}}$	$\sqrt[2q]{\frac{c_{4,p}}{c_{3,p}}}$	$E(T_p^{(0)})$
p = 1	2.3003266338	1.4790630640	0.9475011359	0.31020161970	12.0741849068
p = 2	2.1831381187	1.4804977697	0.9945006811	0.31110425063	11.9384816402
p = 3	2.1703876992	1.4811614118	0.9998834217	0.31110781732	11.9250806999
p = 4	2.1700868205	1.4811942368	0.9999998915	0.31110781747	11.9247775328
p = 5	2.1700864866	1.4811943041	1.0000000000	0.31110781747	11.9247772164
p = 6	2.1700864866	1.4811943041	1.0000000000	0.31110781747	11.9247772164

Acknowledgment: The authors wish to acknowledge the contributions of the anonymous referees for pointing out many improvements to this paper. Also the authors would like to thank Dr. Xufeng Chen and Dr. Weigang Sun for their help. The second author has been partially supported by the Zhejiang Provincial Natural Science Foundation of China No. LY13F030016.

References

- [1] X. Li, Y. Shi, I. Gutman, Graph Energy, Springer, New York, 2012.
- [2] I. Gutman, The energy of a graph, Ber. Math. Stat. Sekt. Forschungsz. Graz 103 (1978) 1–22.
- [3] I. Gutman, Total π-electron energy of benzenoid hydrocarbons, *Topics Curr. Chem.* 162 (1992) 29–63.
- [4] J. H. Koolen, V. Moulton, Maximal energy graphs, Adv. Appl. Math. 26 (2001) 47–52.
- [5] B. Zhou, Energy of graphs, MATCH Commun. Math. Comput. Chem. 51 (2004) 111–118.
- [6] H. Liu, M. Lu, F. Tian, Some upper bounds for the energy of graphs, J. Math. Chem. 41 (2007) 45–57.

- [7] S. Gong, X. Li, G. Xu, I. Gutman, B. Furtula, Borderenergetic graphs, MATCH Commun. Math. Comput. Chem. 74 (2015) 321–332.
- [8] J. Rada, A. Tineo, Upper and lower bounds for the energy of bipartite graphs, J. Math. Anal. Appl. 289 (2004) 446–455.
- [9] I. Gutman, Bounds for total π -electron energy, Chem. Phys. Lett. 24 (1974) 283–285.
- [10] M. A. A. de Freitas, M. Robbiano, A. S. Bonifácio, An improved upper bound of the energy of some graphs and matrices, *MATCH Commun. Math. Comput. Chem.* 74 (2015) 307–320.
- [11] I. Ž. Milovanović, E. I. Milovanović, Remarks on the energy and the minimum dominating energy of a graph, MATCH Commun. Math. Comput. Chem. 75 (2016) 305–314.
- [12] V. Nikiforov, The energy of graphs and matrices, J. Math. Anal. Appl. 326 (2007) 1472–1475.
- [13] Y. Hou, I. Gutman, Hyperenergetic line graphs, MATCH Commun. Math. Comput. Chem. 43 (2001) 29–39.
- [14] I. Gutman, X. Li, Y. Shi, J. Zhang, Hypoenergetic trees, MATCH Commun. Math. Comput. Chem. 60 (2008) 415–426.
- [15] R. Balakrishnan, The energy of a graph, Lin. Algebra Appl. 387 (2004) 287–295.
- [16] E. Sampathkumar, On duplicate graphs, J. Indian Math. Soc. 37 (1973) 285–293.
- [17] I. Gutman, X. Li, J. Zhang, Graph Energy, in: M. Dehmer, F. Emmert-Streib(Eds.), Analysis of Complex Networks: From Biology to Linguistics, Wiley–VCH, Weinheim, 2009, pp. 145–174.
- [18] I. Gutman, Acyclic systems with extremal Hükel π-electron energy, Theor. Chim. Acta 45 (1977) 79–87.
- [19] L. Lovász, J. Pelikán, On the eigenvalues of trees, Period. Math. Hung. 3 (1973) 175–182.
- [20] A. Mowshowitz, The characteristic polynomial of a graph, J. Comb. Theory B 12 (1972) 177–193.
- [21] L. Lovász, Combinatorial Problems and Exercises, Akadémiai Kiadó, Budapest, 1993.
- [22] J. Zhang, X. Chen, W. Sun, A linear-time algorithm for the Hosoya index of an arbitrary tree, MATCH Commun. Math. Comput. Chem. 75 (2016) 703–714.

- [23] Y. Guan, An iteration algorithm of finding multiple roots and its multiplicity of equation in one variable, *College Math.* 24 (2008) 78–81.
- [24] A. N. Krylov, Lectures on Approximate Computations, Gos. Izd. Tekh.-Teor. Lit., Moscow, 1950 (in Russian).
- [25] Y. Hong, The k-th largest eigenvalue of a tree, Lin. Algebra Appl. 73 (1986) 151–155.
- [26] A. Yu, F. Tian, On the spectral radius of unicyclic graphs, MATCH Commun. Math. Comput. Chem. 51 (2004) 97–109.
- [27] D. E. Muller, A method for solving algebraic equations using an automatic computer, Math. Tables Aids Comput. 10 (1956) 208–215.
- [28] L. W. Ehrlich, A modified Newton method for polynomials, Commun. Assoc. Comput. Machin. 10 (1967) 107–108.
- [29] F. Uhlig, The DQR algorithm, basic theory, convergence and conditional stability, Numer. Math. 76 (1997) 515–553.